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1. Atransmission's fluid has a milky
appearance. Which of the following is the most
likely cause?

(A) Band friction material failure.

(B) Coolant mixing with transmission oil.

(C) Clutch friction material failure.

(D) Transmission oil breakdown.

2. A car is sluggish only on take-off. The
engine is properly tuned, and the vehicle
accelerates normally once above 35 mph (56
km/h). Which of the following is the most likely
cause?

(A) Low transmission fluid level.

(B) Worn front pump.

(C) Bad governor valve.

(D) Bad torque converter.

3. A car with an automatic transaxle is unable
to go into high gear. Technician A says the
cause could be slipping bands. Technician B
says the cause could be a bad governor. Who
is right?

(A) A only. (B) B only. (C) Both A and B.

(D) Neither A nor B.

4. The most accurate method for pinpointing an
oil pressure leak with the transmission pan
removed is to:

(A) check line pressure.

(B) remove and check control body.

(C) check the filter pick-up tube seal.

(D) perform air pressure tests.

5. Stall tests are commonly used to check:
(A) erratic shifting.

(B) converter stator clutch.

(C) governor pressure.

(D) planetary gear noise.
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6. If an automatic transaxle does not work
right, what should you do first?

(A) take a pressure test.

(B) adjust the bands.

(C) check the transmission fluid.

(D) check engine vacuum.

7. All of the following can cause an automatic
transmission to slip except:

(A) hardened servo seals.

(B) worn planetary gears.

(C) plugged sump filter.

(D) faulty one-way clutch.

8. During inspection, a spool-type valve should
fall freely in its bore in the valve body when:
(A) both parts are dry.

(B) the spring is removed.

(C) both parts are lubricated

(D) it is a pressure-regulated valve

9. Technician A says band adjustment is a
common service procedure on late-model
transmissions. Technician B says band
slippage on late-model vehicles often signals
the need for major repairs. Who is right?

(A) A only. (B) B only. (C) Both A and B.

(D) Neither A nor B.

10. An engine will not crank when the shift
selector is in park. Technician A says to check
the adjustment of the neutral safety switch.
Technician B says to check the adjustment of
the transmission's linkage. Who is right?

(A) A only.(B) B only. (C) Both A and B.

(D) Neither A nor B.



